Unbinned fit
in Zy boosted analysis

Xiaohu SUN
IHEP
2016-03-01



Background modeling

* Fitting background model to y+jet MC
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Signal modeling

* Signal model is CB+Gauss
e Use the same mu in both CB and Gauss

* Use k as a factor to scale CB sigma to
Gauss sigma

fm(yJ)) = fegCB(m(vJ); u,00B, acB, NoB)
+ (1 — fop)Gauss(m(vyJ); u, ko)




Signal model fit to MC

- X = 750 GeV

cbAlpha = 1.519 +0.035

— cbMu = 745.10 + 0.18 GeV
- cbSigma = 22.30 +0.17 Ge
—fraction = 0.9867 + 0.003
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[ ¢bN = 2.26 +0.15

- cbSigma = 35.85 + 0.51 GeV
| fraction = 0.806 + 0.022
8000 —kSigma = 1.776 +0.033
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- X = 3000 GeV

000 [_cbAlpha = 1.519 +0.045

- cbMu = 3013.00 + 0.46 GeV
000—cbN = 1.91 +0.16

cbSigma = 49.84 + 0.70 GeV
4000 —fraction = 0.885 + 0.025

- kSigma = 1.993 + 0.098
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Expected limits

* Expected limits only (no systematics)
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Compared to binned fit

* Limits with binned fit
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